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rotated about the y-axis.

\/ =

S

g 2 x(Er-x")d x

“WS Sy =X > dx

1)

a—

b.

a.

?:ri x—ux:l‘ B

(- )

<) -«ﬂ '
327,249t

2T

~

(25T
©

K%

Find the volume of the region which is bounded by y = 5x — x? and y = 0 when itis

y)

=

=

=X

};L‘ h:-y-:‘a_x—:g'

0 =24 vho= 28 xlsx-1")

the slice would be o wosher
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(5 points) Find the arclength of thecurve y = 2x —5on—-1<x < 3

Use the arc length formula/integral to compute this value
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Explain why using the slicing (or cross-section) method would fail in this situation

- Jﬁxl = 345 - (W) = NS

b. Use the distance formula to compute this value
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Why should the two answers from part (a) and (b) be the same?
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